4

000 "®OPCTEX" © Bce npasa 3awjyLieHbl
Y Ten.: +7(495)763-9683 e-mail: info@forsteh.ru caiit: www.forsteh.ru

(D ROTOFLUX FOR HIGH SPEED
APPLICATIONS AND DRY RUN

D ROTOFLUX 1A BbICOKUX CKOPOCTE/ 1 CYXOTO
BPALLEHUA

\ Coolant ‘
\ CoX \

A10 D> 40 bar =580 PS| B10 B 70 bar = 1015°P5| A08 P 100 bar = 1.450 PS| B08 P> 100 bar = 1.450 PS|

w4x

c’ﬂf 120°C = 248°F 120°C =248°F 120°C =248°F 120°C = 248°F
A10-3/g" B10-3/g" A08-1/3" B0S-1/4"
@ 10.000 15.000 15.000 20.000

1l (DROTOFLUX FOR HIGH SPEED

APPLICATIONSAND DRY RUN

1 PASSAGE, SIZES 1/4" AND 3/g"

The unions of the models A and B are have been designed for machine tool
spindles rotating at high speed with fluid passing through or dry when nee-
ded.

The seals, balanced and microlapped, remain always closed without problems
both with flud passing through (wet run) or without fluid (dry run).

Do not use the unions at max application limits without consulting Rotoflux.

D POTALMOHHDBIE COEAUHEHA ROTOFLUX ﬂ#ﬂ

BbICOKOUN CKOPOC

1 MPOXOL} PA3MEPAMM 1/5" 11 3/g"
Vi3penus mopeneii A v B Gbinn cO3[aHbl ANA BLICOKOI CKOPOCTW BPALLEHUA 1
PaboTbi € XUAKON NN CyXoii cpeaoit.

CbanaHcMpoBaHHble YMMOTHEHNA C  MUKPO MPUTUPKOIA, OCTaloTcA BCerja
3aKpbITBIMK 6€3 KaKUX-MGO Mpobrem B KUAKOW (BaXHOe BpalleHue) uin
cyxoit (cyxoe BpatueHme) cpefe. He pekomeHyeTca 1Cronb3osaTb u3fienvs Ha
MaKCUManbHbIX  BO3MOXHOCTAX — MPUMEHEHUs,  NpefiBapuTenbHo  He
MPOKOHCYNBTUPOBABLLMCH CO cnelmanictamn ROTOFLUX

1 CYXOro BPALLEH

Vent hoie

Labyrinth to protect ball bearings

Stainless steel rotor

Tungsten carbide seal

Microlapped and balanced seals

18
75| / |0.007
M16 x 1°
Union installation F
VIHCTpYKLWN 1O MOHTaxy
— \ Straight through unions \
H \ P oceBoro | —
M u]
A B D | E F G| H|I 00 X Y | kg
A08-1502-04R M16X1,5 RH Glly" 5 108 | 34 18 1|5 Gllg" 17 30 |03
A08-1502-05L M16X1,5 LH Gly" 5 108 34 18| 1|5 Gl 17 30 |03
A10-1702-04R M16X1,5 RH Gk" 9 125 | 43 8 1|5 Gllg" 17 2 |05
A10-1702-05L M16X1,5 LH Gp" 9 125 | 43 18] 1|5 Gy 17 2 |05
B08-1502-04R M16X1,5 RH Gl 5 116 | 44 18 1|5 Glg" 20 24 | 06
B08-1502-05L M16X1,5 LH Glly" 5 16 | 44 18] 1|5 Gllg" 20 24 | 06
B10-1702-04R M16X1,5 RH Gp" 9 130 | 54 18 1|5 Gy 20 2 |08
B10-1702-05L M16X1,5 LH Gk" 9 130 | 54 18 1|5 Glly" 20 32 108
18
75| /| 0007

Union installation

VHCTpYKUMI N0 MOHTaXy * .

0,8 x 30°

.

—t

o

Homep } 90 unions }
A B [D|E|F|G|H]|I|L|MX ,é

A08-1501-04R M16X1,5RH Gy" 5 91 34 18 1" 5 66 Glg"| 17 03
A08-1501-05L M16X1,5 LH Gy" 5 91 34 18 1" 5 66 Glg"| 17 03
A10-1701-04R M16X1,5 RH G 3" 9 110 43 18 1 5 82 Glg"| 17 0,5
A10-1701-05L M16X1,5 LH G3f" 9 110 43 18 " 5 82 G| 17 05
B08-1501-04R M16X1,5 RH Gy" 5 101 44 18 1 5 76 | Glg"| 20 0,6
B08-1501-05L M16X1,5 LH Gy" 5 101 44 18 1" 5 76 Glg"| 20 0,6
B10-1701-04R M16X1,5 RH G3fg" 9 115 54 18 1 5 87 GW"| 20 08
B10-1701-05L M16X1,5 LH G 3" 9 15 54 18 1 5 87 G's"| 20 08

29





